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Note: First 15 minutes arc allotted for the candidates to read the question
paper.
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Instruction :
i) All questions are compulsory. Marks allotted to each question are
.given in the margin.
i) In numerical questions, give all the steps of calculation.
iii) 'Give relevant ariswgs to the questions.

iv) ‘Give chemical q&&tions wherever necessary. ‘
1. ww%ﬁm%&wﬁm&qm%mﬁmww AT I

o e« O | |
F) O% 39 ST 9o, e 3 a1 #1 €, Feerd &
i)y  avifas 39 iy smfiw 3w _
iii) e 3 iv) TEEGNTE S| 1
W) 10% FEHM WA A | %4200 g e § o #: e am
) 50¢g i) 10-0g
iij) 200g iv) 400g. 1
M T AR & T am ReRiw (k) 2-3x105Lmol™s™! #1 afufwar =
wHife gt
TR ) A 31 i)y  wam Wi -
i) it e | iv) 3 9 HE T 1
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i) CH,NH, i)  (CHy),NH
i) (CH,),N iv)  (C,Hg)NH. !

Four alternatives are given in each part of this question. Select the
correct alternative and write it in your answer-book :

aj

b)

9)

70022/85

The solid which is electrical conductor, ductile and tensile, is called
1) Molecular solid R lonic solid <

111) Metallic solid iv) Coordinate solid. 1
In a 200 g solution of glucose with 10% mass per cent, amount of
glucose will be '

i) 50¢g ii) 100 g

iii) 20-0g iv) 40-0 g. |
Velocity constant ( k) for a reaction is 2-3x 10"°L mol™'s™!. Order
of the reaction will b

i) Zero order K\Q i) First order

iii) Second orger iv) None of these. |
The base not\ sent'in RNA 1s

i) Adenite iij  Guanine

mi) - Thy&ine iv) Uracil. 1
Cannizzaro’s reaction is exhibited by

i) Benzoic acid ii) Toluene

iii) Benzaldehyde iv) Formic acid. 1
Carbylamine reaction gives

i) CH,NH, ' i)  (CHg4),NH |

i11) (CHj4),3N iv) (C,Hg),NH. 1
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i) 298 K W 0.20 M KCl fe@a & ame@hal 0-248 Scm™! 21 308
e’ AHa w7 anft ?

1+ 1

v wife & fufear N,O5(g) = 2NO,(g)+ 5 Ogtg} i 310 K ™

N,Os ¥ WRfY® Frxar 1-24x102moll™! & = 30 favz & v

0-20x102molL"! T ™I 310 K W an fads 1 men Hifwm)
(log,,6-2 =0-7924) 2

Calculate the packing c.:apacity (efficiency) of a simple cubic lattice.

2
The structure of a cell of an element is body centred cubic (bcc).

The length of the core of the cell is 200 pm. Density of the element

is7 g/cma Determine the number of atoms in 20 gelement. 2

Give answers : ° : 1+1

i) Why does the conductw:ty of any solution decreases with
dilution ?

ii) Conductivity of ‘020 M KCl _solution at 298 K is
0-248 S cm—). What will be its molar conductivity ?
Initial concentration of N,O¢ in a first.order reaction

1 L2 -1
N205(g]—>2N02(g)+-2—02[g) was 1-24x10“molLl™ at 310 K,

which remained Q<\ x10"%2molL™! after 30 minutes. Calculate

velocity constan &310 K. (10g,g6+2=0-7924) 2

waf‘sa 1+ 1

i) wﬂrﬁmaﬁwﬂwaﬁm%?

i) ércrﬂr wat it qern A 9o e stfus et sifueive w4
T ¥ 2

frafefea =1 TR : 1+ 1

) NCl, e & ey NClsaﬁuaﬁt 2

i) e wad i w1l e € 2

frée 3l Iy forlfe @ A ¥ 2 SR 1 U 3w AR L 4 1
r@mmnmﬁmﬂwwml

2
Just:fy with reasons :

1+ 1

i) Why does physical adsorption decrease on increasing
temperature ?
ii) Why are the powdered materials better effective adsorbent in

comparison to their crystalline forms ?

[ Turn over

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

F7(CA)
b)

d)
%)

9)

M)

b)

70022/85

Explain the following : a
i)

NC1, occurs but NCI; does not. Why ?
i)

Why arc halogens strong oxidising agents ?

What do you mean by bidentate and ambidentate ligands ? 1G-:wf
one example of each.

Differentiate between the structures of D-glucose and D-fructose. 2
0. 1mol L) KCI faer & W g0 ws arcrwal de 1w 100 Q &, T
0.02molL-! KCI faeras &t sfrtveaer 500 Q &, df 0-02 mol L-1 KCI
foeras = STeTHaT Ud HieR STeran GReiAd it L

-1
0-1molL™! KC| faergs & aesal 1-29 Sm Tl

fr=fafaa d fadg FiT 1+1+
i) qrtae faea @ Heraa

ii) mﬁaﬁtmﬁwﬁm

i) wg v iR ges fvas HIemas |

frfafaa wt d@fira feaeht fofaa - 1+1+1
i) . Wl @t fdas S

i) T %%mx sfirferar wefee A& Fdl &

ii) q&aqq‘qb 1} fasa & wafe wHife= =@

The resis e of a conductivity cell, filled with 0-1 mol L-! I.{CI
solution -is°100 Q. If the resistance of this cell is 500 Q on filling

0-02 mol L-1“ KCI solution, then calculate the conductivity and
molar coriductivity of 0-02 mol L-! KCI solution. The conductivity of

0-1 mol L-! KCI solution is 1:29 8 m~1. | 13+ 13
Differentiate between the following : _ : 1+1+1
i) True solution and suspension

i) Lyophilic and Lyophobic colloid

iii) Multimolecular and macromolecular colloid.
Write short notes on the following :

i) Secondary structure of proteins

ii) Peptide bond

iii) Monosaccharides.

1+1+1
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Give reasons of

Giv 0. the [ollowing :
i) Aniline does not exhibit F

13 + 13
ii) Ethyl amine is soluble in

riedel-Crafig rcaction,
water while aniline is not,

T T T TG ST 2 0 st 900 o e
foe@T § 126 g S ¥ 9 W MR gemmm 6.0

=1
300 K W 39 fIea &1 wregor 2 4 @y 22gmo|2+%21
i) T sl & an @ e T we E )
i)  USee & AW = wweEy 242
frfafiaa = FRer wfea TR - 2+ 2
i) HeHAYT YU IEFEaar T @i = §

ii) AT YT AU 3 FIRER A YR B £
frafefaa Iugeddi=T difil % IUPAC A fafau -

i) [CrCl,(en),|Cl -

i) Cs[FeCl,]

i)  K,(Co(C,0,);]

iv)  [CoCl,(NH,),]

What do you understand by osmesis and osmotic pressure ?
126 g protein is present in 200 cm® aqueous solution of protein.

Molar mass of protein is 61-:022 g-mol~!. What will be osmotic
pressure of this soluticé%at 300 K ? 2+2
i) What do you rstand by velocity of a chemical reaction ?
i) Explain Ra 's law,

Explain the foll g with reasons :
i)  Transitigh

l+1+1+1

2+ 2
2+ 2
metals generally form coloured compounds.

i) - T::ans&on metals and their

maximum compounds are
paramagnetic.

Write IUPAC niames of the following coordination compounds :

I+1+1+1
i) [CrCls(en),|Cl

i)  Cs[FeCl,]
iii)  K,4[Co(C,0,),]
iv)  [CoCl,(NH,),]

Tt FEE it e wewrfe

TR & WY AR T TS o D 2414141
Frerar
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mem(%ﬂamqﬁa;mhmmﬂﬁm—
VTR A ¥ faerm amird A Bem w2
W FERE gewt graieeRe & ww sl s o
W) RS ) my q @ NaOH faeraa @ fen weEt @ 2
V) TR v ¥ w2
v) e wmimom s am affrmammd 2 141 v 10000
B Foafefea At ) dae fafeo
1) 2-FER1 3-Afde A
i) 1,4-3EEA FE-2-F
i) 1-3R-2-Afe A=
iv)  1-3R-4-ufee AREeead
v)  3-am-2-afad ge-2-3 ) J+1+41+1+
Huar
1 A ¥ A9 (Fae Tarts g g ) —
i) mn-aﬁa(mﬂﬂaﬁﬁ%EKOH%mm%mm%g
ii) wﬁﬁmﬁ%m@ﬁmﬁﬁmz
At ? o
iii) wmﬁaﬁﬁﬂﬁ&mmaﬁwmuﬁz;
iv) mmﬁﬁmﬁcww?ﬁ%?
v) T 3 SRR e NaOH R Bl € 2 1+ 1+ 1+ 1+

6. a) Describe the indu 1 manul’acturc' of sul;_)hur dim‘cidc gas. (n
also chemical equations of the reactions. Give chcrplcal equations
of the reactio sulphuric acid with calcium fluoride, copper and
sulphur. Q\Q 241+ 1+

. OR
What happens when (Give chemical equations only) —
1) lodine reacts with nitric acid solution ?
ii) Chloririe reacts with sulphur dioxide ?

iii)  Chlorine reacts with hot and conc. NaOH solution ?

iv) Chlorine reacts with fluorine ?

v) Zinc reacts with dil. nitric acid ? 1+1+1+1+!1
b)  Write structures of the following compounds :

- i) 2-chloro-3-methyl pentane

i) 1,4-dibromo but-2-ene

iii) 1-chloro-2-methyl benzene

iv) 1-chloro-4-ethyl cyclohexane

v) 3-bromo-2-methyl but-2-ene,

OR

l+1+14+1 !
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i hat ﬁ?gmﬁc}\nhcn (Give chemical €quationg sATca)

ii) Methy lod?é‘;dcr;:atcta wﬂ;{l: alcoholic Kocl'-[n!;n -

- :dt:g?[’ Cls with magnesium n Prescnce of dry
cthery? bl't}rmde reacts with sodium in Presence of

iv) (N:l}flth}'l iodide reacts with KCN solution 7 n

v) orobenzene reacts with aqueous NaOH ?

F) @ﬁaﬁmﬁmm'ﬁﬁﬁlwm%|mﬁ%+l+l+l
ﬁwﬁﬁﬁﬂlmﬁﬁm@aﬁw#wm%?‘m
3Tty fetelttor 9@ Ud W o33 Y frarfafy fafae 24149

AYTr
Frtfefan afifrast S O FRC T 4,8,C,0,E,F% 7 @ 4 fiffiay -
' : 1+1+1+1+
OH

, @ conc. HNOj; > A

OH

@ CHCls + aq.NaOH

PHs

CHy—CHy— CHy— O—C—CH,— CHg HI-A5 c+ D
CHa

CrO,
i) CHsCH(OH)CHj E

. (l]x 4

v) CHSCOOH (@)\hgo
@ UF FEAS ﬁ@?( A ) Frge omfdasw §A CgH,O &, 2,4-DNP
(2,4-FTARHA ERe) SETE ¥ WY A0 e AR FAE| A’
Hifean TgaRs. @ Jufafa 9 S & | T A W T Ui 37 @6
WY A S| A’ T IR e tefem faeme & sqefia 9@
T & AR AR T WA T H Aol G B €1 w@ e e g
Voo U ¥ Th BEISHGS A B Sl 8, frae afoas g3
C,Hg0, T AT ‘A* T ‘B ! Twatw aon wy sifafsared i1 gHemu |

i)

i)

LS
r

23 + 23
arear
T FY W HOT (FAA THEfTF gl fofan ) —
) UHE | 4-FEga-4-9feT 9=RF-2-3717 ?
i) O 9 3-TRgEN oA 2
i) S W TR A
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) AT e A et T 3 2 EERENIA,

Describe the industrial manufacture of cthanol. o ed
chemical ecqualtion of reactions. What is 10 -
dehydrogenation of cthanol ? Write the mcchanism

dehydration of cthanol to get ethene.

OR | and
. . ames
Complete the following reactions and write t?i ;‘1+ L+ 1+1

formula(glof ABCDEF:
_{ PR LY &N H

. conc, HNO
i) @ S5 A

OH
i) @ CHCI, + aq.NaDH_} B
- ‘CHg
iijj CHz;—CH,— CHQ—-O-—-{:_:—CHQ—CHS +HI-2>C+D
CHjs
CrOs

iv)  CHaCH(OH)CH; —— E

v cH,coon W LiAH.

(i) H,0 ,
An organic compound ‘A’ having molecular formula (CgHgO), gives
orange red precipitate with'2,4-DNP (2,4-Dinitrophenyl h-ydl:aZin?]
reagent. ‘A’ givc@yellow precipitate on heating with 1odlnf’i 1'n
presence of N . ‘A’ neither reduces Tollen’s reagent, Fehling's
solution nor olourises bromine water. It forms a carboxylic a?id
‘B’ having#iolecular. formula C,H,0,, on strong oxidation with
chromigsacid. Identify compounds ‘A’and B’ and explain the majrz
reactio§s. 23 +23

F

OR
How will you obtain (Give chemical equations only) —
i) 4-hydroxy-4-methyl pentan-2-cne from propanone ?
1i) 3-hydroxy butanol from ethanol ?
iij)  Butanoic acid from butanal ?
iv) .Ethanoic anhydride from ethanoic acid ?
V) Phenyl ethanoic acid from benzyl alcohol? 1+1+1+1+1
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